1. Derivatives in the distribution matching
approach
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After parameterizing w, b to ensure the smoothness by

w = Rg,b = Rh, where R = L!"(L' + X)~!. The
new parametrization results in:
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2. Derivation of the covariance matrix in
Active Learning

Detailed derivation for covariance matrix Yo for
P(yteU |XteU’ Xtr’ Ytr’ ‘X'teL7 YteL).
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where Y, = YteU — Q,ytel,
Combining the terms related to Y™, we would have
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Combining the term related to Y,, we have Y, also follow-
ing a gaussian distribution with the quadratic term as the
following:
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which implies that Y, or Y€V has a covariance matrix of:
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(matrix inversion lemma)



